1.

RETFAN #@if ZEEE BEE0oARER o1
xyz ZZEEIEIC B \WT, ROGMZ 7 TIEO R E KD L. (S50, Af15330%, B2 20%, C#H3330% )

(1) JFEEED, B2 bV (1, -1,0) OV

(2)  28(1,0,4), (3,2,1) ZE 5 HEM

(3) b (1,-1,2), zy FHEICET 28R
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2.

xyz IR B VT, ROFEM#7: TRIEO R EZ KD L. (SH07, Afk1330%, Bik24520%, C#3330%)

(1) R(1,-3,2) @D, HEERZ bV (2,-4,5) OV

(2)  25(1,5,7), (3,-2,1) %8 5 HEH

(3) by (1,-3,5), 2o FHIICEET 5Bk
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RETAM #@if ZMEEE BREOFER 01 BEHRS
xyz ZZEEIEIC B \WT, ROGMZ 7 TIEO R E KD L. (S50, Af15330%, B2 20%, C#H3330% )

(1) JFEEED, B2 bV (1, -1,0) OV

lr —1y4+0z2=0

© z—y=0 -EZX

(2)  28(1,0,4), (3,2,1) ZE 5 HEM

HERZ Fvid (3,2,1) —(1,0,4) = (2,2, -3)

_ Y _ gz

(3) b (1,-1,2), zy FHEICET 28R

BRI |2] = 2

s
M

(@— 12+ @+ 1)+ (z—2)? =22
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xyz BRI B T, ROFMZ7: TRIEO Rz KD k. (SH507, A1 308, B2 208, C#34330% )

(1) R(1,-3,2) @D, HEERZ bV (2,-4,5) OV

2z —1) —4(y+3)+5(:z—-2)=0 -&EZX

(2)  25(1,5,7), (3,-2,1) %8 5 EE

HERZ Fvix (3,-2,1) = (1,5,7) = (2,—7,—6)

r—1 y—5 z—T7 e

= Z
2 -7 —6

(3) "l (1,-3,5), zo FEIICEET 23K

P | 3] =3

s
M

(2= 1)+ (y+3) + (2 - 5)* = 32
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